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Problem Set 5.4
Rewrite the equation in exponential form.
1] log,49 =2 2] log:125 =3 3] log4%= -1
4] log,16 = 4 5] logye4 = = 6] logs = = —2

Rewrite the equation in logarithmic form.

7] 13% =169

111647 = 8

121972 =—

8] 93/2 =27

1
81

9] 473 =—

64

1

13] 122 = 144

10]1073 = 0.001

) () =5

Evaluate the logarithm without using a calculator. Show work to support your answer.

15] log, 81 = 16] log,, 3 = 17] log, 32 =
18] logg 1 = 19] Ine* = 20] logg 4 =
21] 10g3§ = 22] log 1000 = 23] log% 128 =
24]log, 2 = 25] log,s 125 = 26] logs i =
27log, 64 = 28] loges 4 = 29] logg — =

216




30) Graph the logarithmic functions. List at least 2 points on the graph of f(x). List the domain,
range, and asymptotes as they apply.

a) f(x) =logsx b) f(x) =log;(x +9) — 5

31 - 33] Use the definition of the logarithmic function to solve for the value of x.

31.(a) logsx =4 (b) log100.1 =x
32.(a)logs2=x (b) logax =2
33.(a) logx1000 =3 (b) logx25 =2

34 - 35] Use the Change of Base Formula and a calculator to evaluate the logarithm, correct to six
decimal places. Use either natural or common logarithms.

34.log25 35.logs2



